ОБРАЗЕЦ ЗАДАНИЯ  I ДЛЯ ВТОРОГО ТУРА ОЛИМПИАДЫ
Part 2 (Grammar and Sentence Structure)
1. Complete the sentences

1. …………………., he would have been able to pass an exam.
(A) if he studied more

(B)  if he studying to a greater degree

(C)  studying more

(D) had he studied more

2.  It was not until she had arrived home ……………….remembered her appointment with the doctor.

(A) when she

(B)  that she

(C)  and she

(D)  she 

3. The students liked that professor’s course because……………………
(A)  there was few if any homework

(B)  not a lot of homework

(C)  if there wasn’t a great amount of homework

(D)  there was little or no homework

4.  A good students must know…………………….

(A)  to study hard

(B)  to be a good student

(C)  how to study effectively

(D)  the way of efficiency in study

5. Ben would have studied medicine if he …………..to a medical school.
(A)  could be able to enter

(B)  had been admitted

(C)  was admitted

(D)  were admitted

2. Identify one underlined word or phrase that must be changed in order for the sentence to be correct.
1. Mumps are a very common disease which is usually affects children.

A                            B              C             D

2. Each of the nurses report to the operating room when his or her name is called.

               A                    B                                                             C                 D

3. After studying all the new materials, the student was able to rise his test score by

              A                  B                                                 C             D

twenty-five points.
4. I suggest that he goes to the doctor as soon as he returns from taking the exam.

                      A          B             C                                            D

5. When Cliff was sick with the flue, his mother made him to eat chicken soup and

                A                                                                       B      C
rest in bed.

D

6. Stuart stopped to write his letter because he had to leave for the hospital.

                                 A                          B                         C            D

7. Joel giving up smoking has caused him to gain weight and become irritable.

     A                           B                      C                                              D

